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78. Choose the word or phrase which best completes
the sentence.
My heliday in Paris gave me a great ____ to
improve my French accent.

A. occasion B. chance

C. hope D. possibility

79. Choose the word which fits best within the texts below.
Among __ , 12-year olds have on average only
three missing, decayed or filled teeth.

A. person B. people

C. children D. family

Read the sentences and fill in the blank.

Obviously, objectives oceasionally be
modified or changed.
A have to B. must to

D. ought
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| the piano since the age of five.
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C. =t
T Wﬁﬁm—@ﬂ‘ai
Ans : C
03. mewﬁwﬁﬁwm

A. T + 7% = T B. TS + 76 = E5f
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. Read the sentence and fill in the blank.
some employers oppose the very existence of
unions, many theorists stress the necessity of unions.
A. Because B. Due to
C. Howcver D Although

E‘C hoose the word winth ﬁts h-est the space in the text.

He to his men about the distance travelled
each day.
A. lied B. told

D asked

06. Choose the word or phrase which best completes
the each sentence.
I've always you as my best friend.
A. regarded B. thought
C. meant D. supposed

07. 4C wﬂwaﬁﬂﬁmﬂn @mﬁr
A. 11001100
C. 01001010

B. 01001100
D. 01001101
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AxX+yY—6x—10y+25=0
B.x’+y —6x—10y-25=0

C.x*+y -6x=10y+9=0
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g ey J0 1 newton | [MLTZ]
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CSy, C e § @3 7 B T@C- —1109, —394 <
—297 kJ mol ™" =1 CS, @7 & Fesiow ot F©7
A.—121kJ B. +121 kJ
C.-298kJ D. +298 kJ

@3 50 mL 7% g3t 5g CaCl, wir | #ow & CaCl,
T BTSN T |
A. 10 gL™
C. 1ol gL‘]

B. 100 gL
D. 1011 gL

BB (CH,y) & IAoIoHE ST Wl 7 39 CO, ¢ Hy0
e | 1.5 G C Hy (0 32 (e CO, Beoly o0 91 39 |
A. 6 = B. 4 i C.8 ci= D, lt]ma_

ZnSO, R g 3.25 A Rur Fowd sFE s
4.405 g Zn S TF | (Zn 97 SRS €9 65.40 g)

A. 33.33 min B. 66.66 min

C. 6.66 min D. 76.66 min
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